MATH 221 Qurz 2 |

Show your work. There are three problems.
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(a.) multiply AB
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b.) calculate A= (if you are doing row reduction here then think again /
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Problem 2 Suppose A is a 3 x 3 matrix and [ is the 3 x 3 identity matrix. Furthermore, it is given
that
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Given this information, determine the following:
(a.) is A invertible?
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(b.) all solutions of Av = e; where v = [z,y, 2]T.
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(d.) all solutions of Av = ez where v = [z,, 2] .
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Problem 3 Find all a, b, ¢ such that
T+2y+z=a, y+ 2z =b, TRy —gi=e

is a consistent system of equations.
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